# R2023 1839 DEC 19 2023

## AMENDMENT NO. 1 TO THE PATHWAY & MINOR CONSTRUCTION CONTINUING SERVICES CONTRACT BY AND BETWEEN PALM BEACH COUNTY AND WYNN & SONS ENVIRONMENTAL CONSTRUCTION COMPANY, INC. PROJECT #2022063

This Amendment No. 1 to the Pathway & Minor Construction Continuing Services Contract (R2023-0255) (CONTRACT), dated March 14. 2023, is made and entered into the  $\cancel{1912}$  day of  $\cancel{1}$  ecember. 2023, by and between Palm Beach County, a political subdivision of the State of Florida, by and through its Board of County Commissioners (COUNTY), and Wynn & Sons Environmental Construction Company, Inc. (CONTRACTOR), whose Federal ID is 65-0301746 (individually Party and collectively Parties).

### WITNESSETH

WHEREAS, the COUNTY and CONTRACTOR entered into the CONTRACT on March 14. 2023 (R2023-0255);

WHEREAS, Section 3 of the Special Provisions allows for extensions and other Contract deviations but will only be exercised upon mutual written agreement through a Board approved Contract Amendment, while adhering to all other original terms, conditions and unit prices of the Contract; and

WHEREAS, by this Amendment No. 1, the CONTRACTOR and the COUNTY mutually agree to amend the CONTRACT, as provided herein.

NOW, THEREFORE, in consideration of the mutual covenants, promises, and agreements herein contained, the Parties agree as follows:

- 1. The above recitations are true and correct and incorporated herein.
- 2. Page P-5A of the CONTRACT is hereby deleted and replaced with the attached Proposal Form EXHIBIT A.
- 3. It is the intent of the Parties hereto that this Amendment No. 1 shall not become binding until the date executed by the COUNTY.
- 4. Except as hereby amended, changed or modified, all other provisions of the CONTRACT shall remain in full force and effect.

Attachment !

Project #2022063

Page 1 of 3

Amendment #1

F.)

IN WITNESS WHEREOF, the Board of County Commissioners of Palm Beach County, Florida has made and executed this AMENDMENT to the CONTRACT on behalf of the COUNTY, and CONTRACTOR has hereunto set its hand the day and year above written.

**COUNTY:** APPROVED AS TO TERMS AND CONDITIONS

By:

1 CIROS 6

7

AU Á WW

 $\left( \cdot \right)$ 

,

Morton L. Rose, P.E. WF Director of Roadway Production

**CONTRACTOR:** Wynn & Sons Environmental Construction Company, Inc.

Nes. K

Daniel P. Wynn, President

0 (Corp. Seal)

**ATTEST WITNESS:** 

Signa/ure De

Name (type or print)

S onsture K17

RY Name (type or print)

Project #2022063

Page 2 of 3

{SIGNATURE PAGES CONTINUED}

i

**ATTEST:** Joseph Abruzzo Clerk of the Circuit Gol ptroller By: LORI Clerk Deputy Ċ ÷. APPROVED AS TO FORM AND LEGAL SUFFICIENCY By: ybh Yelizaveta B. Herman Assistant County Attorney

**COUNTY: Palm Beach County**, a Political Subdivision of the State of Florida, by and through its Board of County Comprissioners

By: Maria Sachs, Mayor

R2023 1839 DEC 19 2023

ne coade av pro 202 2023 003 pethyav und minore onstruction continuing services contract S contract ani india ne suide hange (6,2 v 2022003 Texan dos udment Edox

Project #2022063

Page 3 of 3

Amendment #1

#### Exhibit A PROPOSAL FORM

.

.

.

	ά	BID PROPOSA PATHWAY AND MINOR CO CONTINUING SERVICES PBC PROJECT #20	NSTRUCI CONTRA				a a
#	FDOT PAY	ITEM DESCRIPTION	QTY	UNITS	UNIT PRICE	;	AMOUNT
124	522-2	Concrete Sidewalk (6" Thick) (Driveway) (8 SY to < 35 SY)	1,000	SY	\$ 200.0	D \$	200,000.00
125	522-2	Concrete Sidewalk (6" Thick) (Driveway) (35 SY or Greater)	15,000	SY	<b>\$</b> 63.0	<b>b</b> \$	945,000.00
126	522-2	Concrete Sidewalk (6" Thick) (Curb Ramps)	15,000	SY	\$ 89.0	\$ 0	1,335,000.00
127	527-2	Surface Applied Facille Surface	7,000		\$ 22.0		154,000,000
1274	527-2	Castilin Alacchia Churface	7,000	SF	8 440	00	308,000.00
128	N/A	Pump Mix for Concrete Pumping	500	CY	\$ 35.0	0 \$	17,500.00
129	N/A	Pumping or Hand Placement of Concrete (1/2 Day)	5	EA	\$ 1,500.0	<b>\$</b>	7,500.00
130	N/A	Pumping or Hand Placement of Concrete (1 Day)	5	EA	\$ 2,000.0	3	10,000.00
131	110-4-10	4" Concrete Removal	5,000	SY	\$ 12.5	3	62,500.00
132	110-4-10	6" Concrete Removal	5,000	SY	\$ 12.5	3	62,500.00
SUBTO	<b>DTAL (CONCRETI</b>	5)			e l	\$	5,001,075.00
FENC	ING AND RAILING	TTEMS		<b>,</b>		-	5. <i>1</i> 1
133	550-10-212	Type B Fence (4' High) (w/ Top Rail) (Green Vinyl Clad)	200	LF	\$ 200.0	) <b>\$</b>	40,000.00
134	550-10-222	Type B Fence (6' High) (w/ Top Rail) (Green Vinyl Clad)	400	LF	\$ 250.0	D \$	100,000.00
135	110-1-1	Chain Link Fence (Removal & Disposal)	250	LF	\$ 100.0	2 \$	25,000.00
136	550-10-410	Double Rail Wood Fence	400	LF	\$ 75.0	2 \$	30,000.00
137	550-10	Double Rail Wood Fence (Relocation)	350	LF	\$ 55.0	5 0	19,250.00
138	110-1-1	Double Rail Wood Fence (Removal)	100	LF	\$ 15.0	) \$	1,500.00
139	515-1-2	Aluminum Pipe Handrail (3 Rail)	150	LF	\$ 250.0	) \$	37,500.00
140	515-1-1	Steel Pipe Handrail (3 Rail)	150	LF	\$ 250.0	) \$	37,500.00
141	515-1	Safety Pipe Rail (2")	100	LF	\$ 250.0	) \$	25,000.00
142	550-10	Field Fence	12,000	LF	\$ 25.0	) \$	300,000.00
143	550-10	Five Strand Wire Fence (See TSP's)	25,000	LF	\$ 25.0	) \$	625,000.00
144	110-1-1	Field Fence, all post type (Remove and Dispose) (See TSP's)	12,000	LF	\$ 8.0	) <b>\$</b>	96,000.00
145	110-1-1	Five strand Wire Fence (All Post Types) (Remove and Dispose) (See TSP's)	25,000	LF	\$ 8.0	) \$	200,000.00
146	550-60	Bull Gate (12') (See TSP's)	10	EA	\$ 2,500.0	0 \$	25,000.00
147	550-60	Bull Gate (14') (See TSP's)	5	EA	\$ 3,500.0	2 (	17,500.00
148	550-60	Bull Gate (16') (See TSP's)	5	EA	\$ 4,500.0	3 (	22,500.00
SUBTO	DTAL (FENCING A	ND RAILING)				\$	1,601,750.00
LAND	SCAPING ITEMS	۵۰ مراجع می از مراجع می از مراجع می می از مراجع می مر				e	
149	570-1	Seed and Mulch	500	SY	\$ 4.0	-	2,000.00
150	570-2	Sodding (To Match Existing) (See Notes)	25,000	SY	\$ 6.9	9 \$	174,750.00
151	N/A	Synthetic Turf (ForeverLawn or Equal) with 2.5" Foam Underlay	1,000	SY	\$ 50.0	) <b>\$</b>	50,000.00
152	N/A	Top Soil (6" Thick)	2,000	SY	\$ 11.0	3 \$	22,000.00
153	N/A	Poured in Place Rubber Mulch (Rainbow Turf Products or Equal)	500	SY	\$ 85.0	) <b>\$</b>	42,500.00
154	110-1-1	Stump Removal	80	EA	\$ 100.0	8	8,000.00
155	581-1	Tree Relocation	20	EA	\$ 1,000.0	_	20,000.00
156	110-1-1	Tree Removal (< 12" Caliper)	50	EA	\$ 1,500.0		75,000.00
157	110-1-1	Tree Removal (12" - 24" Caliper)	50	EA	\$ 2,000.0		100,000.00
158	110-1-1	Tree Removal (Palms - All Sizes)	50	EA	\$ 1,500.0	_	75,000.00

Print Date 11/14/2023 5:51:24 AM

2

#### Palm Beach County Compliance Summary Report

3 ·

Vendor Number	Vendor Name	AM Best Rating	Insurance Carrier	Policy #	Eff. Date	Exp. Date	Coverage	Contract Number	Contract Name
DX00002016	Wynn & Sons Environmental Construction		Compliant					2022063	Pathway & amp; Minor Construction Continuing Services
		Ar, XI	Monroe Guaranty Insurance Company	CA100085855	7/3/2023	7/3/2024	Auto Liability		
		Ar , Xi	National Trust Insurance Company	UMB100085857	7/3/2023	7/3/2024	Excess Liability		
		Ar , XI	Monroe Guaranty Insurance Company	GL100085856	7/3/2023	7/3/2024	General Liability		
		Α, ΧΙ	FCCI Insurance Company	WC0100085858	7/3/2023	7/3/2024	Workers Comp		
Risk Profile :	Standard - Construction Service	88							

Required Additional Insured : Palm Beach County Board of County Commissioners Ownership Entity :

Page 1 of 1

Print Date 11/14/2023 5:50:46 AM

Page 1 of 1

# Евух

.

#### Palm Beach County Compliance Summary Report

· ·

Vendor Number	Vendor Name	AM Best Rating	insura Carrie		Policy #	Eff. Date	Exp. Date	Coverage	Contract Number	Contract Name
DX00001994	Wynn & Sons Environmental Construction Company, In		Comp	oliant					2022053	Wynn & amp; Sons Environmental Construction Company, Inc.
		Ar, XI	Monroe Guaranty Insura Company	ance	CA100085855	7/3/2023	7/3/2024	Auto Liability		
		Ar, XI	National Trust Insurance Company	8	UMB100085857	7/3/2023	7/3/2024	Excess Liability		
		Ar, XI	Monroe Guaranty Insura Company	ance	gl100085856	7/3/2023	7/3/2024	General Liability		
		A , XI	FCCI Insurance Compar	iny	WC0100085858	7/3/2023	7/3/2024	Workers Comp		
Risk Profile :	Standard - Construction Service	es.								
Required Additional Insured :	Patm Beach County Board of County Commissioners									

Ownership Entity :

